TILT PANEL TP2 TILT PANEL TP3

TILT PANEL TP1

TILT PANEL TP4

TILT PANEL TP7

DO NOT SCALE

_+_ TILT PANEL TPS _+_ TILT PANEL TP6 TILT PANEL TP8 _+_
_BOUNDARY s
. —-— <,
- — % 2
-1 _ A’Yp &
. ———" i S )
e — ,
- —— —_——————————— N %
4 - r ' @/\
—_-— " L \ 29
————————————————————————————————— fS m | \\ N
z m
=(Z e \
mE . \
3|> o ! \
BIF = \
SE a \
ol [ - | \\
= S - \
& %l \\
S \
o
]| \
+ 3
(]
' &)
58
= - SR
a N6\
— &
—1
L |
+ 2
- o o
= T
—
M| CONTROL JOINT €1 ] CONTROL JOINT CJ1_ o i CONTROL JOINT CJ1
[}
% F1
+ |
[}
tn |
[a
'—
= i
< =
o
= g! \ +
+ : : |
=z
S |
Ul I .
1 AN
\ —
[}
l N\ =
| 2
[} l \ o
| w \ :
| I =3 \?
| @ |w
| ==
L e -y N L g\ e e P e e e e A e e ————— e 2| .
v S|o
ﬁt I 1 - | - | S| &
————————————————— — — + — — — — — = —l_---w-—-wT:h———————— ——————»——ﬁ——————»——-0-F3—————— T »-——1%———————— —— ?
> F3 =4 W W W
aly = & Z|& = © ¢ ¢ ¢ 600x300 STRIP |
glo gf| §600x300 STRIP VIE FTG. TYPE FOURT
Gl 3| [FTG. TYPE FOWR = :
(e) m
o [ & \
ol - -
<+ == H, 30mm SETDOWN FOR TILED o W 4 fsggéLgrElGENTTmMLBARS
! FLOOR SHOWN SHADED '
MAINTAIN SLAB THICKNESS

FEETING PLAN

FOOTINE SGHRIEDUILIS

DOWN BALTS

F1 1500x1500x750 Deep 4-M20 Galy. Bolts

F2 1200x1200x750 Deep 4-M20 Galy. Bolts

F3 900x900x450 Deep 4-M20 Galy. Bolts

FL 750x750x450 Deep 4-M20 Galy. Bolts
MEMEBER SCHIEDUILE

REMARKS

100x100x6.0 SHS

100x100x4.0 SHS

100x100x5.0 SHS

100x100x3.0 SHS

DESIGN INFORMATION

NATIONAL CONSTRUCTION

CODE 2019
IMPORTANCE LEVEL 2

DEAD AND LIVE LOADS
AS1170.0 & AS1170.1-2002

FLOOR LIVE LOAD 2.0 kPa

ROOF LIVE LOAD 0.25 kPa
WIND DESIGN AS1170.2-2011

WIND REGION A

REGIONAL WIND SPEED, VR 45 m/sec

TERRAIN CATEGORY 2.5

EARTHQUAKE LOADS
AS 1170.4-2007
HAZARD FACTOR, Z 0.08

SITE CLASSIFICATION
AS 2870-2011

CLASS 'A'TO'S'
SOIL BEARING PRESSURES
ALL FOOTINGS 100 kPa

(SAFE BEARING PRESSURE)

NOTE:

SLAB MAY ALTERNATIVE HAVE CONTROL JOINTS CUT

WITH A SOFT CUT SAW ONLY.

MESH TO HAVE EVERY SECOND BAR CUT PRIOR TO POUR

NOTE:

THIS BUILDING HAS BEEN DESIGNED TO COMPLY WITH
THE BUILDING CODE OF AUSTRALIA AND THE RELEVANT
STANDARDS NOTED THERE IN. THIS BUILDING COMPLIES
WITH THE REQUIREMENTS AS NOTED SPECIFICALLY

BCA C1.11 AND BCA C2.7

NOTE:

A GEOTECHNICAL INVESTIGATION HAS BEEN
PERFORMED AND THE SITE WAS FOUND TO BE

CLASS "Ato S' UNDER AS 2870.

GENERAL

G1 THESE DRAWINGS ARE TO BE READ IN CONJUNCTION WITH ALL
ARCHITECTURAL AND OTHER CONSULTANTS DRAWINGS AND
SPECIFICATIONS, AND WITH SUCH WRITTEN INSTRUCTIONS AS MAY BE
ISSUED DURING THE COURSE OF THE CONTRACT. ALL DISCREPANCIES
SHALL BE REFERRED TO THE SUPERINTENDENT FOR A DECISION BEFORE
PROCEEDING WITH THE WORK.

G2 ALL DIMENSIONS RELEVANT TO SETTING OUT AND OFF-SITE WORK
SHALL BE VERIFIED BY THE BUILDER BEFORE CONSTRUCTION IS
COMMENCED. THE ENGINEERS DRAWINGS SHALL NOT BE SCALED.

G3 DURING CONSTRUCTION THE BUILDER SHALL BE RESPONSIBLE FOR
MAINTAINING THE STRUCTURE IN A STABLE CONDITION AND ENSURING
NO PART IS OVER STRESSED DURING CONSTRUCTION ACTIVITIES.

G4 WORKMANSHIP AND MATERIALS ARE TO BE IN ACCORDANCE WITH
THE RELEVANT S.A.A. CODES AND THE LOCAL STATUTORY AUTHORITIES
REGULATIONS INCLUDING ALL AMENDMENTS, EXCEPT WHERE VARIED
BY THE CONTRACT DOCUMENTS.

FOUNDATIONS

F1 WHERE EXISTING GROUND CONSISTS OF SAND OF VARYING
COMPACTION.  GROUND TO UNDERSIDE OF FOOTINGS AND SLABS ON
GROUND SHALL BE COMPACTED WITH AN APPROVED VIBRATORY PLATE
COMPACTOR TO ACHIEVE A COMPACTION IN THE TOP 1050MM
EQUIVALENT TO 8 BLOWS PER 300MM MEASURED WITH A 16MM DIA
9.1 KG PERTH PENETROMETER.

F2 ALL FILL SHALL BE COMPACTED IN LAYERS NOT EXCEEDING 450mm
THICKNESS. IMPORTED FILL SHALL BE CLEAN WELL GRADED YELLOW
SAND FROM AN APPROVED SOURCE.

F3 SITE SHALL BE STRIPPED OF ALL VEGETATION IN BUILDING AREAS.
ENSURE THAT NO VEGETATION OR ORGANIC MATTER EXISTS IN THE SOIL
STRATA BELOW THE FOOTINGS OR SLAB ON GROUND FOR A DEPTH OF
AT LEAST 1000mm.

F4 IF BASE AT FOOTING EXCAVATIONS BECOMES WET PRIOR TO POURING
CONCRETE THEN THE WATER AND ANY SOFTENED MATERIAL SHALL BE
REMOVED PRIOR TO POURING THE FOGTINGS.

F5 IF CLAY OR EXPANSIVE SOILS ARE ENCOUNTERED ON SITE, NOTIFY
SUPERINTENDENT BEFORE PROCEEDING.

CONCRETE

(1 ALL WORKMANSHIP AND MATERIALS SHALL BE IN ACCORDANCE WITH
AS.3600 CURRENT EDITION WITH AMENDMENTS, EXCEPT WHERE VARIED
BY THE CONTRACT DOCUMENTS.

(2 CONCRETE SHALL BE PRE-MIXED FROM AN APPROVED SUPPLIER.
PORTLAND CEMENT TYPE A TO BE USED. BLENDED CEMENT NOT TO BE
USED. TABLE BELOW INDICATES STRENGTH GRADE.

(3 ALL CONCRETE SHALL BE VIBRATED EXCEPT FOR CAVITY FILL, WHICH
SHALL BE TAMPED WITH A ROD.

Ch LOCATION STRENGTH AGGREG SLUMP
GRADE SIZE NOMINAL
(max) (mm)
FOOTINGS
& SLABS N25E7 20 80
TILT PANELS NLOE7 20 80

(5 REINFORCEMENT SYMBOLS

N : HOT ROLLED DEFORMED BARS TO AS 1302 MARKED '‘TEMPCORE'.
SL : FABRIC TO AS 1304.

R : STRUCTURAL GRADE PLAIN ROUND BAR TO AS1302.

W : HIGH STRENGTH (450) PLAIN ROUND BAR TO AS 1302.

THE NUMBER FOLLOWING IS THE BAR DIAMETER IN MM.

(6 THE BUILDER SHALL SUPPLY ALL NECESSARY BAR CHAIRS (PLASTIC
TIPPED), SUPPORT AND SPACER BARS, AND CONCRETE BLOCKS FOR
FOOTING AND SLAB REINFORCEMENT, TO PLACE STEEL IN ITS CORRECT
POSITION DURING CONCRETING.

(7 REINFORCEMENT IS SHOWN DIAGRAM-MATICALLY AND NOT
NECESSARILY IN TRUE PROJECTION.

(8 COVER TO REINFORCEMENT:

FOOTINGS - 75mm

SLABS ON GROUND - 30mm TOP

SUSPENDED SLABS - 30mm (45mm EXTERNAL)
COLUMNS - 40 (50)mm TO LIGATURES

WALLS - 30 (40)mm

C9 SPLICES IN REINFORCEMENT SHALL BE MADE ONLY IN THE POSITIONS
SHOWN OR AS APPROVED BY THE ENGINEER. MINIMUM LAPS IN SLABS
SHALL BE: N12 - 520mm N16 - 720mm N20 - 825mm N2&4 - 1100mm

N28 - 1500mm SL - 300mm

OR AS NOTED ON THE DRAWINGS.

(10 REINFORCEMENT IN SLABS MUST BE PLACED IN UPPER AND LOWER
LAYERS AS INDICATED. (OGS AND HOOKS TO BE STANDARD IN
ACCORDANCE WITH SECTION 13, AS 3600.

(11 INSPECTION

AT LEAST 24 HOURS NOTICE TO BE GIVEN FOR INSPECTION OF
REINFORCEMENT BEFORE POURING CONCRETE. NO CONCRETE SHALL BE
ORDERED UNTIL WHOLE OF THE REINFORCEMENT FOR THE POUR HAS
BEEN APPROVED BY THE STRUCTURAL ENGINEER.

(12 NO HOLES, CHASES OR EMBEDMENT OF PIPES, OTHER THAN THOSE
SHOWN ON THE STRUCTURAL DRAWINGS SHALL BE MADE WITHOUT THE
APPROVAL OF THE SUPERINTENDENT.

SERVICE CONDUITS IN SLABS ARE TO BE PLACED IN THE MIDDLE THIRD
OF THE SLAB. CONDUITS ARE NOT TO MAKE LINE CONTACT WITH
REINFORCEMENT. PENETRATIONS OF BEAMS SHALL NOT BE MADE
WITHOUT THE APPROVAL OF THE SUPERINTENDENT.

(13 CONCRETE SHALL BE CURED BY APPLICATION OF: () AN APPROVED
CURING COMPOUND, OR (i) CONTINUOUS WATER SPRAYS FOR PERIODS
OF 7 DAYS.

(14 PROVIDE ALL EXPOSED EDGES AND CORNERS WITH 20mm CHAMFERS
OR FILLETS, UNLESS NOTED OTHERWISE.

(15 FORMWORK SHALL BE APPROVED UNDAMAGED PLYWOOD. DESIGN
OF SUPPORTING STRUCTURES SHALL BE THE BUILDER'S RESPONSIBILITY.

(17 ENSURE THAT SIDES OF FOOTING TRENCHES ARE SUCH THAT SOIL
DOES NOT FALL IN DURING PLACEMENT OF CONCRETE. ON BOUNDARY
LINES SIDES OF FOOTINGS SHALL BE FORMED UP WITH TIMBER.

CONCRETE (Cont.)

(18 SLABS ON GROUND TO BE UNDERLAID WITH I.C.l. FORTECON (OR
SIMILAR APPROVED) SHEET MEMBRANE, TAPED AT ALL JOINTS AND
TURNED UP AGAINST WALLS AND AT EDGE THICKENINGS FOR FULL
DEPTH OF SLAB.

(19 PRIOR TO POURING ANY CONCRETE SUPPORTED ON FACE WORK,
PLACE LAYER OF PVYC SHEET MEMBRANE OVER WALL. DRAPE OVER
SIDES OF WALL AND ON COMPLETION CUT OFF ANY PROTRUDING SHEET
FLUSH WITH WALL.

(20 SIZES OF CONCRETE ELEMENTS DO NOT INCLUDE THICKNESS OF
APPLIED FINISHES. BEAM SIZES ARE DESIGNATED DEPTH (INCLUDING
SLAB) X WIDTH.

(21 CONSTRUCTION JOINTS SHALL BE PROPERLY FORMED AND USED
WHERE SHOWN OR SPECIFICALLY APPROVED BY THE ENGINEER.

(22 ALL PROPS AND FORMWORK FOR BEAMS AND SLABS TO BE REMOVED
BEFORE CONSTRUCTION OF ANY WALLS OR OTHER PERMANENT LOADING
ON THE SLAB.

C23PROVIDE P.G.I., MALTHOID OR SIMILAR APPROVED BOND BREAKER
BETWEEN THE TOP OF ALL LOAD BEARING BRICK OR BLOCK WALLS AND
SUSPENDED SLABS, EXCEPT WHERE THE WALL IS RETAINING.

C24 ALL NON-LOAD BEARING WALLS TO BE KEPT CLEAR OF THE
UNDERSIDE OF SLABS AND BEAMS BY 20mm.

C25SLAB FINISHES:

(A) WET AREAS TO RECIEVE TILES - WOOD TROWEL FINISH.

(B) ALL OTHER AREAS - MONOLITHIC STEEL TROWEL FINISH TO A FLAT
UNIFORM GLASSY SURFACE, SUITABLE TO RECEIVE VINYL FLOORING.
TOLERANCE ON FLATNESS + Smm. DEVIATIONS FROM A 2.0 METRE
STRAIGHT EDGE PLACED ANYWHERE ON THE SURFACE 2.5mm MAX.

(26 ALL RE-ENTRANT CORNERS TO HAVE 2-N16 BARS 1500 LONG LOCATED
CENTRAL ABOUT CORNER. ENDS TO BE COGGED IF CLASH WITH SLAB
EDGE

TILT PANELS

P1 ENSURE CORRECT COVER IS MAINTAINED AT ALL TIMES. LAP MESH IN
ONE DIRECTION ONLY.

P2 DESIGN OF LIFTING AND BRACE POINTS TO BE CARRIED OUT BY AN
ENGINEER APPROVED BY THE PROPRIETRY MANUFACTURER. DETAILS OF
THE REQUIREMENTS OF THE MANUFACTURER TO BE PROVIDED FOR
REVIEW PRIOR TO PANEL WORKS.

P3 PANELS NOT TO BE LIFTED UNTIL 14 DAYS OR UNTIL 75% OF THE
DESIGN STRENGTH HAS BEEN REACHED.

P4 USE ONLY PROPRIETRY FERRULES AND LIFTING POINTS. LIFTING
CLUTCHES AND EQUIPMENT TO BE WORKSAFE APPROVED AS A LIFTING
SYSTEM.

A ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. %6/217
No. REVISION BY DATE

PSH ENGINEERING PTY LTD ABN No 42 606 428 335

Civil & Structuradl

o b SUCKLING
© THIS DRAWING IS & SHALL REMAIN THE PROPERTY OF CIVIL & STRUCTURAL - ENGINEERS. THE DRAWING . SUC

MAY ONLY BE USED FOR THE PURPOSE FOR WHICH IT WAS COMMISIONED, AND MAY NUT BE LENT, SHOWN, DRAWN
COPIED OR OTHERWISE DUPLICATED BY ANY THIRD PARTY WITHOUT THE WRITTEN AUTHORISATION OF THE G. SUCKLING
OWNER.

PATE MAY 2021

SCALE

0 ON A1
1

THIS DRAWING MUST NOT BE USED FOR
CONSTRUCTION UNLESS SIGNED AS APPROVED

ENGINEERS

15 WITTENOOM STREET PHONE:(08) 9791 1834
BUNBURY, 6230 WA

APPROVED

e-mail: admin@cseng.com.au

TITLE

D AGOSTINO AND LUFF ARCHITECTS

PROPOSED NEW RETAIL OUTLET AT

LOT 69 ANTLIA WAY, TREENDALE
FOOTING PLAN

FAX: (08) 9791 1857 | DRG. No.

2021 - 7753 - 01

REV.




DO NOT SCALE
O NOT SC STRUCTURAL STEEL

@ S1 ALL STEELWORK SHALL BE FABRICATED AND ERECTED IN
f 1 ACCORDANCE WITH AS.4100, AS 1250 AND RELEVANT CODES LISTED IN
THE PREFACE THEREOF.

S2 ALL STEELWORK SHALL BE NEW. ROLLED STEEL SHALL BE GRADE 250
TO AS 1204. TUBULAR SECTIONS SHALL BE GRADE 350 TO AS 1163.

@ 115015 PURLINS FULLY LAPPED WiTH @ SHS/RHS SECTIONS SHALL BE GRADE 350 TO AS 1163,

A
N
\

R o s RO 1 i S S et T e = GTAERVSE NGTED, BOTS DENOTED WG STRNGTH 1151 SWALL
BO0R-77E3-08 o OEZDBRS'E%SGPEAEDSPAN 1000 MAX END SPACING AND BOLTS DENOTED HIGH STRENGTH FRICTION GRIP SHALL BE GRADE

~— 1700 MAX. INTERNAL SPACING 1700 MAX. INTERNAL SPACING 8.8/T.B. TO AS 1252, FULLY TENSIONED IN A BEARING MODE TO AS 1511.
T0 SUIT TRIMDEK SHEETING TO SUIT TRIMDEK SHEETING ——————— ALL BOLTS, NUTS AND WASHERS TO BE HOT DIPPED GALVANISED.

—— { Sk ALL WELDING SHALL BE TO AS 1554, PART 1, 1980. WELDS SHALL BE
3 \ 6mm CONTINUOUS FILLET UNLESS OTHERWISE NOTED. ELECTRODE

D0R-7753-08 N\ \\\ CLASSIFICATION SHALL BE E41XX.
N—— ) i Y _r
"\/\/ U — SO 55 KECTIONS SHALL NOT BE SPLICED OTHER THAN AT JOINTS SHOWN,

N UNLESS APPROVED BY THE ENGINEER.

A S
|/ AN @ S6 TREATMENT : ABBREVIATED SPECIFICATION AS BELOW:

TYPICAL FLYBRACE
% 1 - LOCATION N S i) FOR NEAR COASTAL ENVIRONMENTS (ie WITHIN 2km OF THE COAST) ;
N * B CLASS A STEELWORK BUILT INTO CEILING SPACES, NON EXPOSED.
N HOT DIPPED GALVANISED TO 700G/M 2 .
\\ CLASS B STEELWORK EXPOSED TO THE WEATHER, OR BUILT INTO
\\ CAVITIES AND EXTERNAL WALLS. HOT DIPPED GALVANISED TO
N —_— 700G/M 2 .. TOP COAT WITH A TWO PACK EPOXY PRIMER TO
S1 N S2 50 MICRONS DFT, AND THEN A HIGH BUILD EPOXY TO 125 MICRONS DFT.
CLASS C STEELWORK IN CONTACT WITH SOIL OR BELOW GROUND
LEVEL. AS FOR CLASS B ABOVE, HOWEVER TOP COAT WITH A HIGH
BUILD EPOXY TO 400 MICRONS DFT.
CLASS D STEELWORK GENERALLY NOT COVERED ABOVE. HOT DIP
GALVANISE TO 700G/M 2 . . TOP COAT WITH A TWO PACK EPOXY
/\ PRIMER TO 50 MICRONS DFT, AND THEN A HIGH BUILD EPOXY TO 125
s MfROEfI 0 ATIN ANED AN A
_ DR .:3, = GALVANISED COATINGS TO BE CLEANED D SWEEP BLASTED PRIOR
2@2 o5 TO APPLICATION OF PRIMER SYSTEM.
FOR ALTERNATIVE COATING SYSTEMS CONSULT THE SYSTEM
MANUFACTURER FOR SPECIFICATION, APPLICATION AND GUARANTEE.
NOTE : ADDITIONAL REQUIREMENTS FOR ARCHITECTURAL ELEMENTS

7
IRZ
I

N

R1
R1

1500
MIN

—_—T AND FINISHES.
— T r— ' o .é +2 21 i) FOR NON COASTAL ENVIRONMENTS (ie 2km OR MORE FROM THE COAST)

X/ \_ o N TREATMENT : ALL STEELWORK AND FITMENTS TO BE HOT DIPPED
SPLICE SPLICE & GALVANISED. INTERNAL STEELWORK MAY BE TREATED
LOCATION LOCATION |[ T

ALTERNATIVELY BY SAND BLAST CLASS 2.5 AND 75 MICRONS OF
| A | INORGANIC ZINC SILICATE, THEN TOP COAT ALL EXTERNAL, EXPOSED

/'-: \¥ OR STEELWORK BUILT INTO CAVITIES WITH HIGH BUILD EPOXY TO A
SPLICE SPLICE MINIMUM 150 MICRON.

— LOCATION LOCATION S7 STEELWORK BELOW GROUND LEVEL

EI/;IEEDRT%BTTETBFEAQEDII_JIu?TNHAI]I:;% . . f -l E&*EERT?TTSTBFEAQEDB';;?TNHAms STEELWORK IN CONTACT WITH SOIL (INCLUDING UNDERSIDE OF

GALV. CHEMICAL ANCHOR AT —t GALV. CHEMICAL ANCHOR AT BASEPLATES) OR AS OTHERWISE SPECIFIED TO HAVE 2 COATS OF HIGH

500 LTS, MAX %00 (TS, MAX BUILD EPOXY WITH A MINIMUM DRY FILM THICKNESS = 400 MICROMETRES
- MAX. - MAX. IN ADDITION TO ANY OTHER CORROSION TREATMENT.

S8 HOLES SHALL NOT BE MADE THROUGH THE BOTTOM FLANGE OF
) ROLLED STEEL PURLINS FOR THE SUPPORT OF HOOK BOLTS OR CEILING
\ 18 SUSPENSION SYSTEMS. ALL NECESSARY HOLES SHALL BE THROUGH THE

_ \ 2021775506 CENTRAL THIRD OF THE WEB.

— — T =& ===\ : — S9 IN TRUSS FABRICATION THE CENTRE OF GRAVITY LINES OF ALL

\ MEMBERS SHALL INTERSECT AT PANEL POINTS UNLESS OTHERWISE
\\ NOTED, OR SPECIFICALLY APPROVED BY THE ENGINEER.

\ S10 SITE WELDING
ENSURE STEEL IS CLEANED BACK TO WHITE METAL SURFACE AND FREE
\ OF DUST. WELDING TO BE IN ACCORDANCE WITH NOTES ABOVE. SURFACE
\ TREATMENT TO STEELWORK MUST BE REPAIRED IN STRICT ACCORDANCE
\ WITH THE TREATMENT NOTES ABOVE. TOUCH UP PAINT WORK
\ TO ORIGINAL COLOUR OR AS SPECIFIED.

\ S11 MAINTAIN STRUCTURE IN STABLE CONDITION TO THE SATISFACTION
B2 avErR <& —L

R3
R3
1500

‘ MIN
1500
MIN

S2

R3

OF THE SUPERINTENDENT DURING CONSTRUCTION. NO PART SHALL BE
OVERSTRESSED.

S12 ALL PURLINS AND GIRTS SHALL BE FIXED IN ACCORDANCE WITH THE
MANUF'\,?CTURER’S RECOMMENDATIONS AND AS SHOWN ON THE
DRAWING.
NOTE : PURLINS TO BE BHP OR EQUIVALENT AND COATING MASS TO BE
G450, Z450, SUCH AS 'GALVASPAN' BY BHP.

@ S13 UNLESS OTHERWISE SHOWN, ALL CIRCULAR AND RECTANGULAR
HOLLOW SECTIONS TO BE SEALED WITH 3MM PLATE FULLY WELDED.

(

12 4
) T 1 C\
20R1-7753-08 \<
N——— B2 UNDER

N

OR1
OR1

OR{

‘ OR1 OVER
OR{
OR{

D
>

(B

2021-7763-08 20R1-77EE-05 20R1-77EE-06 2R T7ES-08
> N > > S1L UNLESS OTHERWISE SHOWN, MINIMUM CONNECTION TO BE 8 PLATE

CLEAT, 2 M16 8.8/S BOLTS.

S15 TRIMMERS REQUIRED FOR SHEETING FIXING TO BE FABRICATED
FROM A MINIMUM 1.6MM GALVANISED STRIP OR SHEET AND TO BE
SUPPLIED BY THE ROOFING CONTRACTOR.

TIMBER

T1 WHERE NOT NOTED TIMBER CONNECTIONS ARE TO BE IN
ACCORDANCE WITH THE PROVISIONS OF AS 1684.

A A T2 LOADING TO COMPLY WITH AS 1720 AND AS 1170.

T3 THE BRACING SYSTEM, INCLUDING ANY RESTRAINT HAS TO BE
INCORPORATED WITH THE BUILDING DESIGN.

T4 PROPRIETRY ELEMENTS NOTED TO BE SUPPLIED AND FIXED IN
ACCORDANCE WITH THE REQUIREMENTS OF THE MANUFACTURER.

S TIMBER STUDWORK WALLS

n W1 REFER STANDARD FRAMING DETAILS ON DWG. 2021-7753-06
FOR MINIMUM TIMBER STUD SIZES

— W1 WALLS TO BE FABRICATED AND BRACED IN ACCORDANCE
WITH THE REQUIREMENTS FOR A WIND REGION A, AND A TERRAIN
CATEGORY 2.5 LOCATION.

W3 FIX INTERNAL WALL BOTTOM PLATES AT LOCATIONS NOTED BELOW:

STRUSTURE PLAN

NOTE: L
ALL INTERNAL AND EXTERNAL FIXINGS INTO CONCRETE
TILT PANELS TO BE HOT DIPPED GALVANISED

NO SITE WELDING OR SITE MODIFICATIONS ALLOWED AT
LOCATION.

ALL BRACING TO BE HOOK BOLT FIXED

TO PURLIN WEB TYPICAL ALL LOCATIONS.

ALTERNATIVE FIXINGS INTO CONCRETE TILT PANELS
ARE NOT TO BE USED UNLESS APPROVED BY ENGINEER

EJ1

- AT EACH END OF WALL PANEL

H——— |- — — 9= — — —
_______(;.Fﬂ________-

NMEMBER SCHEDUILIS

- e ] = - EACH SIDE OF OPENINGS
= = = - AT EACH DIAGIONAL BRACE
C1__ | 100x100x6.0 SHS - A A A A A A e - AT 1200 CENTRES GENERALLY
S2 10000 SHS (SR BRADFORD 120mm ASHGRID STAND W4 FIX EXTERNAL WALL BOTTOM PLATES AT THE LOCATIONS NOTED
Ci_ [ 100x100x3.0 SHS L L L OFF CLIPS FIXED TO TOP OF PURLINS BELOW:
I — i 1 1 1 pE ! IN ACCORDANCE WITH MANUFACTURERS - EVERY 900mm GENERALLY
4 o . SPECIFICATIONS - EACH END OF WALL PANEL
B — Hr é\ > - EACH END OF DIAGONAL BRACING
RT_ 510 UB &0 — = e — - = e - EACH SIDE OF OPENINGS
R3 | 200 PFC W5 TYPICAL FIXING OF WALL FRAMES TO SLAB SHALL BE WITH 1-M8
e e CHEMICAL OR MASONRY ANCHORS AT CENTRES NOTED ABOVE.
ol 100 100x4.0 ALLOW MIN. 45mm EDGE DISTANCE TO SLAB EDGE, TYPICAL
BRI | ToxTox@ L OR 50x50x6L FLY BRACE
BR2 100x100x8 L OR [ 1] ( FIXED TO PURL'N LAP "\ 4 8R. CLEAT
C15019 > BOLT AS SHOWN ) Y ( BOTH SIDES )
1-M12 BOLT
OR1 | 150 PFC
P e e Niax. TYPIGAL FLYBRACE
400 CTS. MAX. MEZZANINE FLOgR
WPT | 202 LVL, FIXED 70 STRUCSTURE BLAN DETAIL
CONCRETE WALL WITH
1-M16 CHEMICAL ANCHOR
AT 600 CTS. MAX.
DESIGN P SUCKLING TITLE
PSH ENGINEERING PTY LTD ABN No 42 606 428 335
A ALL REMA AL - . A . o . *
(©) s oraag 15 & suaL Kean i PROPERLY OF CHIL & STRUCIURAL  ONGERS, HE DRAWIG, [ N Mo 606426335 TR D AGOSTINO AND LUFF ARCHITECTS
COPIED OR OTHERWISE DUPLICATED BY ANY THIRD PARTY WITHOUT THE WRITTEN AUTHORISATION OF THE G. SUCKLING o d
o Y 2001 ivil & Structura PROPOSED NEW RETAIL OUTLET AT
SoALE ENGINEERS LOT 69 ANTLIA WAY, TREENDALE
:100 ON A1
07107 THIS DRAWING MUST NOT BE USED FOR . — . 15 WITTENOOM STREET  PHONE:(08) 9791 1834 STRUCTURE PLAN
A | ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. | 2021 CONSTRUCTION UNLESS SIGNED AS APPROVED ] BUNBURY, 6230 WA FAX: (08) 9791 1857 | DRG. No. REV.
No. REVISION BY DATE APPR(b e-mail: admin@cseng.com.au 2021 - 7753 - 02 A




FRAMING TO BE FIXED
INTO EACH SIDE OF PANEL —

DO NOT SCALE

R3
R2

R2

R3

B1

B2 ]

1
cl

B2

[m
W

FT2

R1

R1

B2

FTé

F117

FT8

_F.F.L.14.00

CL
]
C4

]

CL
&)

F.F.L. 14.00

LIA STREET ELEVATION

_F.F.L.14.00

MEMBER SGHEDULE

SliZ=

BEMARKS

100x100x6.0 SHS

100x100x4.0 SHS

100x100x5.0 SHS

100x100x3.0 SHS

300 PFC

250 PFC

310 UB 40

310 UB 32

200 PFC

100x100x4.0

89x89x3.5

SEUTTH EAST ELEVATIGN

clsols ToP &HORD\

cbob TOP cHORD

cBolb END CHORD ——=

=——C5015 END cHORD cBolb END CHORD ——=

ClBoB BOTTM &HORD/

N&I&ﬁl's’» INTERNAL CHORDS

EASGCIA TRUSS FT4

cpole ToP CHORD

cpols ENP CHORD ——=

\

CIBoB BOTTOM &HORD/

\\0|00|5 INTERNAL CHORDS

BASGIA TRUSS FT2

~——C[5015 END CHORD

\

505 BOTTOM onoap/

FASCIA TRUSS FT3

cbole TP cHORD

F.F.L.14.00

\X&W&I‘S INTERNAL CHORDS

\

OB BOTTOM &HORD/

FASGIA TRUSS FT4:

=——C5015 END CHORD

\\&I00|5 INTERNAL CHORDS

NARTH WEST ELEVATIEON

cBolb ENP CHORD ——=

cBoB END CHORD ——=

cpol TOP CHORD

-——C[5015 END CHORD

\ |« CI50B END CHORD

B0t BOTTOM anorap/ \\ams INTERNAL CHORDS

FASCIA TRUSS FTS

cbob ToP OHORD\

——CI50l5 END CHORD

BB POTTOM onaap/ \olaola INTERNAL CHORDS

FASCIA TRUSS FT@

cBolb END CHORD ——=

cbob ToP OHORD\

|——CIBoI5 END CHORD

cBoB BOTTOM maap/

\&Iﬂﬁl‘S INTERNAL cHORDS

FASCIA TRUSS FT7

cbob ToP &HORD\ 5o PFC AUTRIGEER /&I‘S&I‘S END cHORD

Bt END CHORD ——=

l«——CI|p0I> END cHORD

\\

cBoB POTTOM CHORD

\&IOM‘S INTERNAL CHORDS \\&Iﬂﬂl‘S INTERNAL CHORDS

FASCIA TRUSS FTS®

BR1 | 75x75x8 L OR
15019
BR2 | 100x100x8 L OR
15019
OR1 | 150 PFC
DESIGN TITLE
@ THIS DRAWING IS & SHALL REMAIN THE PROPERTY OF CIVIL & STRUCTURAL - ENGINEERS. THE DRAWING P SUCKLING PSH ENGINEERING PTY LTD Q(BBII:II Hggggf’fsggg?%i hd
COPED OR OTHERMWISE DUPLICATED BY ANY, THRD PARTY WITHOLT THE WRITTEN AUTHORSATON oF THE | G. SUCKLING o _° D AGOSTINO AND LUFF ARCHITECTS
o YRS C|v|| & Structu ral | PROPOSED NEW RETAIL OUTLET AT
ENGINEERS LOT 69 ANTLIA WAY, TREENDALE
0 ON A1
— 15 WITTENOOM STREET  PHONE:(08) 9791 1834 STRUCTURAL ELEVATIONS
07/0
A | ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. 26217 (Tzlg)llﬁsDTRl;AL\JV(\éﬁgNMLLJJNSEEI\égTS?CENLIJE%EESFSPRPROVED ] BUNBURY, 6230 WA FAX: (08) 9791 1857 DRG. No. REV.
APPROVED ———— e-mail: admin@cseng.com.au 2021 -7753 - 03 A
No. REVISION BY DATE




TILT-UP SLAB

RADIUS DIA 32 CONDUIT FILL g
WITH HIGH FLOW GROUT

AFTER ERECTION

DO NOT SCALE n,

TILT-UP SLAB

125 SLAB
RADIUS DIA 32 CONDUIT FILL SL72 MESH
WITH HIGH FLOW GROUT

AFTER ERECTION

PATHWAY SLAB .
TO TYPICAL DETAIL

L

e e — -

N

>
[a'4
CEMENTITOUS S
GROUT + FLT-UP SLAB 1 . CEMENTITOUS
- 25 SLAB GROUT
125 SLAB o L SL72 MESH
SL72 MESH\ ] | S
.\ RADIUS DIA 32 CONDUIT FILL ™
—~—— /WITH HIGH FLOW GROUT I —————
r/ ’ | AFTER ERECTION _ s AR
gﬁgglﬁi ] DIA 24 GALV. PIN DRILL & EPOXY gﬁgglléﬁ//
= INTO FOOTING PRIOR TO =
m POSITIONING OF TILT-UP SLAB ™
/ < PLACED 1m IN FROM EACH END
OTHER CENTRAL IN PANEL.
N12 TIE AT 600 DN Elg% yTESAT
500 (TS

Booxs80E@ STRIP
FOOTING TYPE 1

2 COATS OF HIGH BUILD
EPOXY TO STEELWORK IN
CONTACT WITH CONCRETE
OR NATURAL MATERIAL

RN

700x300 STRIP
FOOTING TYPE 2

1 — DIA 24 GALV. PIN DRILL & EPOXY
INTO FOOTING PRIOR TO
POSITIONING OF TILT-UP SLAB
PLACED 1m IN FROM EACH END
OTHER CENTRAL IN PANEL.

L8TM

S reTeT—— L Ny N-|., 2
e |
VAPOUR/ =

| DIA 24 GALV. PIN DRILL & EPOXY s " )
INTO FOOTING PRIOR TO BARRIER = 2 .
POSITIONING OF TILT-UP SLAB m e =
PLACED 1m IN FROM EACH END - RANE
OTHER CENTRAL |N PANEL. N12 T|E AT
700 \LSTM 500 CTS 600 \LBTM

700x300 STRIP
FOOTING TYPE 3

2 COATS OF HIGH BUILD
EPOXY TO STEELWORK IN
CONTACT WITH CONCRETE
OR NATURAL MATERIAL

Boo0x300 STRI®
FOOTING TYPRPE 4k

2 COATS OF HIGH BUILD
EPOXY TO STEELWORK IN

125 SLAB
SL72 MESH o
\ A
- T—————————— —d
TR N - . A/W
f Y___
VAPOU ' 4
BARRIER F1 30 L8TM

INTERNAL
THICKENING DIETAIL

FLOOR SURFA

CE
TO ARCH. DETS.\

2 COATS OF HIGH BUILD
EPOXY TO STEELWORK IN
CONTACT WITH CONCRETE

% < | 125 SLAB, SL72 MESH éé ‘, 125 SLAB, SL72 MESH

=|8 CRANK MESH AT FLOOR SURFACE. =|8 CRANK MESH AT

%a 1:6 MAX. TO ARCH. DETS.\%& 1:6 MAX. AS REQUIRED

;_-:—r—-v-———ﬂ":‘?‘j“ﬁ === __4,,_.;.:_?:;1:;
a4 pe—— -
- - ﬁ\ T S22 NN - -
APOUR BARRIER

300 v \VAPOUR BARRIER
MIN.

OR NATURAL MATERIAL i

TYPRIGAL SLAS SETODAWN
WET AREAS GN GREAUND

FIRST POUR , SECOND POUR

125 SLAB 125 SLAB 125 SLAB CONTACT WITH CONCRETE 125 SLAB
SL72 MESH S 12PL BASEPLATE SL72 MESH o 12PL BASEPLATE SL72 MESH, <= OR NATURAL MATERIAL SL72 MESH o LAP MESH INTO
\ = 30mm GROUT \g 30mm GROUT \ ~ \ ~ 12PL BASEPLATE S / SLAB 600 MIN
[ 12PL BASEPLATE 30mm GROUT "
e e — | e —— ~= = =————— e ————— *——“——rq—j——z\z *r———qz———é-—__—::-‘ /— 30mm GROUT —r————— === ~=—i————éih-r———“j7=%é=f==4—-<>
- T ~ TSRS M - N\ T - RTIY '“\{’ : r/ ~_ IR
/ I . 2 VAPQUR BARRIER
VAPOUR VAPOUR y - r= ? == =
BARRIER BARRIER FOOTING TO BE POURED - < ] 1-LAYER OF SL81 MESH FOOTING TO BE POURED 1-LAYER OF SL81 MESH 300
> ., 1-LAYER OF SL81 MESH AS THICKENING TO STRIP E i ________ —==7 a TOP AND BOTTOM AS THICKENING TO STRIP - TOP AND BOTTOM
- 1-LAYER OF SL81 MESH - TOP AND BOTTOM FOOTING. MESH CONTINUOUS DN, ?‘>< FOOTING. MESH CONTINUOUS N GROUND SLAB CONTEOL
A TOP AND BOTTOM A THRU PAD FOOTING T T T T =T T 4-M20 GALV. HOLD THRU PAD FOOTING T == T M2 GALY. HoLD JOINT DETAILy; GJ1
™ 4-M20 GALV. HOLD "~ 4-M20 GALV. HOLD DOWN BOLTS DOWN BOLTS
DOWN BOLTS. MIN DOWN BOLTS. MIN 900 x 900 750 x 750 EDGE OF TILT 125
400 EMBEDMENT 400 EMBEDMENT PANEL \ MIN
1500 x 1500 1200 x 1200 FOOTING F3 FOOTING F4:
. 100 SLAB MES
FOOTING [F1 FOOTING F2 e SL62 MESH &
TYPICAL TYPICAL TYPICAL TYPICAL ‘ =
TYPICAL 2N16 EDGE BARS CONNECTION 2—N16AEDGE BARS CONNECTION 2—N16AEDGE BARS CONNECTION 2—N16AEDGE BARS CONNECTION . e L =
N TYPICAL LOCATIO TYPICAL LOCATIO TYPICAL LOCATIO Lo 1 —_— 2 — — o
CONECTION 2 Nf6 EDGE BARS g TYPICAL rochTen \ N\ \ N\ \ N\ i S oz A\ 2
TYPICAL |
2-N16 EDGE BARS LOCATION ] | f | f [ t 150 L VAPOUR
TYPICAL S - . — BARRIER
'y r ) * S S — ™~ TYPICAL FERRULE
- —1. . TYRIGAL PATHWAY LOCATIONS
. EDGE THICKENING DETAIL
Z’OAMTPE§EPSRSUE§LE TYRIGAL FERRULE EDEE
10 STRIP DETAL,
—>||<— MINIMUM EDGE DISTANCES NOTED ABOVE ARE
1l stz 3l stz v 1l stz stz v 1l sioz 2l siz l - - - FOR USE IN PANELS WITH EDGE BAR DESIGN.
SL102 MESH SL102 MESH SL102 MESH SL102 MESH SL102 MESH SL102 MESH —_—— e e e e 7 ——————— e e e —— ALTERNATIVE - EDGE DISTANCES AS NOTED
™ CENTRAL ™ CENTRAL ™ CENTRAL = CENTRAL ™ CENTRAL ceNweRae TN N2 S IN SPECIFICATIONS OF MANUFACTURER OF
FERRULES
rYRIGAL PATHWAY SLAS
EXPANSIAGN JOINT DETAIL EJ CRANE
WATERPROOF
COMPRESSABLE
— ey e = — == = - = SPREADER BEAM
2-N16 BARS \2-N1z EDGE BARS \2-N1z EDGE BARS \2-N1z EDGE BARS \2-N12 EDGE BARS \2-N12 EDGE BARS \2-N1z EDGE BARS PULLEYS
ADDITIONAL TO BOTTOM TO BOTTOM TO BOTTOM TO BOTTOM T0 BOTTOM TO BOTTOM
TILT PANEL =1 TILT PANEL TP TILT PANEL TPS TILT PANEL TP4: TILT PANEL TR6E TILT PANEL TPE LIFTING LUGS
NOTE; PANEL TG BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK TYPRIGAL PATHWAY PULLEYS
OTATION
TYPICAL TYPICAL TYPICAL GeNTROL JOINT DETAIL GJ DIRECTION
CONNECTION 2-Nf6 EDGE BARS CONNECTION 2-N16 EDGE BARS CONNECTION 2-N16 EDGE BARS TYPICAL TYPICAL
LOCATION TYPICAL LOCATION TYPICAL LOCATION TYPICAL CONNECTION 2-N16 EDGE BARS CONNECTION TYPICAL
\ \ \ \ LOCATION TYPICAL 2-N16 EDGE BARS i A
LOCATION PICAL CONNECTION 2:N16 EDGE BARS TILT-UP SLAB
A = T = I — \E\A\ LOCATION\ TYPIcAL\ EJ -
] > I. = — I _ LIETING ARRANGSEMENT
o o 4 g >
Sy PANEL LENGTH No. OF PINS
LI SL102 MESH LI SL102 MESH L SL102 MESH L SL102 MESH I SL102 MESH L SL102 MESH ) “ 00 - 2000 1 OFF
=T CENTRAL ™ CENTRAL ™ CENTRAL =™ CENTRAL =™ CENTRAL =™ CENTRAL 2000-3000 2 OFF
i(é é 3000-5000 3 OFF
sl sl 5000-7500 L OFF
Sl Ly
S |G
cJ
- _ _ _ _ _ - | | _ _ _ _ _ _ - | _ _ _ _ - - | _ _ _ _ _ _ o1 _ _ _ _ _ _ _ 1l _ _ _ 1 | o
L — 1 C— | L — =5 | = | — — | .
>
\z-mz EDGE BARS \z-N1z EDGE BARS \z-mz EDGE BARS \z-N1z EDGE BARS \z-N1z EDGE BARS \z-N1z EDGE BARS |
TO BOTTOM TO BOTTOM TO BOTTOM TO BOTTOM TO BOTTOM TO BOTTOM 2
wn
'_
TILT PANEL TR7Z TILT PANEL TRES TILT PANEL TRPS TILT PANEL TR=10 TLT PANEL TP TILT PANEL TRI2 E) -
NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK | | |
I I
2-N16 EDGE BARS 2-N16 EDGE BARS 2-N16 EDGE BARS 2-N16 EDGE BARS 1000 1000
TYPICAL TYPICAL TYPICAL TYPICAL TYPICAL TYPIGAL PATEHWAY BELAN ‘—’I l‘—’
\ \ \ CONNECTION \ 24 DIA PINS
e = — N B = = B = LockTIo = 1 SE PINNING
oo N oo I I \I PANEL BASE PINNING
LOCATION CONNECTION . TYPICAL .
\ LOCATION CONEECTAON . N . /L
LOCATIO ¢ - S
\ \ UL SL102 MESH WL SL102 MESH WL SL102 MESH TILT-UP SLAB - — RADIUS 32 CONDUIT
2-N16 BARS . 2-N16 BARS Y FF CENTRAL 2-N16 BARS HF CENTRAL 2-N16 BARS =t CENTRAL ~~ FILL WITH HIGH
ADDITIONAL = SUi02 MESH ° ADDITIONAL ° ADDITIONAL '\ ADDITIONAL ‘ol FLOW GROUT AFTER
EACH NSIDE OF = cefTRAL EAEH NSIDE OF ° EACH NSIDE oF [pe EACH NSIDE OF A ERECTION
OPENINGS OPENINGS OPENINGS ° OPENINGS P o .
TYPICAL TYPICAL TYPICAL TYPICAL CEMENTITOUS I
\ GROUT ! %
1 | | I
\ I o
\\ \ \ \ REID TYPE SWIFT LIFT _>”<|£ CAP i S
~. . | | :
[ | [ | [ | e .. : : P p iz 2 @24 GALV. PIN DRILL
— e e i u%\ - B 4 : . Lt = — & EPOXY INTO FOOTING
T TIN T 4 = q R R R q Z|  PRIOR TO POSITIONING
7 — \ ; 1-Y12 BAR TO BASE OF o OF TILT-UP SLAB
12x12mm SEALANT WITH TILT PANEL TO BE PLACED 1|
_— ] e— 1= — — by — - ——— e — - — == —Jf—-—-— EEZLASS PER PANEL EE'NSFL?;*;WEGR TOOF TLT'FET@EPROVAL BACKING ROD TO BE LOCATED EACH SIDE OF BASE PIN
Y INTERNALLY AND EXTERNALLY —
N\oniz EDGE BARS oz EOGE BARS N\onz EDGE BARS N\onz EDGE BARS EQUIPMENT AT ALL JOINTS TYPRIGAL TILT PANIEL BASE
T0 BOTTO T0 BOTTO T0 BOTTO TO BOTTO
LIFTING LUG DETAIL JOINT SEALANT DETAIL PIN FDXING DETAIL
TILT PANEL TRIS TILT PANEL TE94: TILT PANEL TRI8S TILT PANEL TRIS TYPICAL BASE PIN FIXING DETAIL
NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TO BE 150mm THICK NOTE; PANEL TG BE 150mm THICK NOTE; PANEL TO BE 150mm THICK FOR INTERNAL AND EXTERNAL PANELS
DESIGN P SUCKLING TITLE
PSH ENGINEERING PTY LTD ABN No 42 606 428 335
A ALL REMA 0 0 AL - . A - o . *
(O s crawns i & AL Resan, e pROPERTY OF KL & STRUCTURAL L SNGICERS. THE ORAMIG | N No Bosez633s. Tn D AGOSTINO AND LUFF ARCHITECTS
COPIED OR OTHERWISE DUPLICATED BY ANY THIRD PARTY WITHOUT THE WRITTEN AUTHORISATION OF THE G. SUCKLING o d
ot v ivil & Structura PROPOSED NEW RETAIL OUTLET AT
SoALE ENGINEERS LOT 69 ANTLIA WAY, TREENDALE
)
- 120 O AT 15 WITTENOOM STREET  PHONE:(08) 9791 1834 | FOOTING DETAILS AND CONCRETE TILT PANEL ELEVATIONS AND DETAILS
07/07 THIS DRAWING MUST NOT BE USED FOR <
A | ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. | 2021 BUNBURY, 6230 WA FAX: (08) 9791 1857 DRG. No. REV.
CONSTRUCTION UNLESS SIGNED AS APPROVED B pr— e-mail: admin@cseng.com.au
No. REVISION BY DATE G ' 9- ' 2021 - 7753 - 04 A




S
NN
[N

RE

[

CONCRETE
TILT PANEL

SEGTION [ A

2021775305
N—

(SR BRADFORD 120mm ASHGRID STAND
OFF CLIPS FIXED TO TOP OF PURLINS
IN ACCORDANCE WITH MANUFACTURERS
SPECIFICATIONS

16PL CLEAT
4-M20 8.8/s BOLTS

R2 310 UB

16PL END PLATE WITH
6-M20 BOLTS INTO CAST
IN FERRULES.

CONCRETE
TILT PANEL

16PL CLEAT

4-M20 8.8/s BOLTS

L

S2 89 SHS
10PL CAP PLATE R2 310 UB|
12PL STIFFENER
CLEAT, 12PL CLEAT, m
2-M20 8.8/s BOLTS L]
’ [
I
el
12PL CAP PLATE, 5
4-M20 8.8/s BOLTS g 1500
- | MAX.
O
4
i
DETAIL
@@@L

CSR BRADFORD 120mm ASHGRID STAND
OFF CLIPS FIXED TO TOP OF PURLINS
IN ACCORDANCE WITH MANUFACTURERS
SPECIFICATIONS

S1 100 SHS X

319 SPLIGE
DIETAIL

K

/

16PL END PLATE WITH
6-M20 BOLTS INTO CAST

[a1]
> IN FERRULES.
™ i
2
' 2ORI-T7ES-08
N
BETAL / 1)

L 1
2021-7783-62

N————"

6PL CLEAT, FULLY
WELDED TO BEAM,
6-M20 8.8/s BOLTS

8PL CLEAT, FULLY
WELDED TO BEAM,
3-M20 8.8/s BOLTS

6PL CLEAT, FULLY
WELDED TO BEAM,
6-M20 8.8/s BOLTS

16PL END PLATE WITH
6-M24 BOLTS INTO CAST
IN FERRULES.

2-M20

DO NOT SCALE

BOLTS INTO CAST

IN FERRULES TO EACH END

OF TILT-UP PANEL. PROVIDE
1-M16 CHEMICAL ANCHOR AT
900 MAX. CTS. ELSEWHERE

CSR BRADFORD

12PL CLEAT WITH
2-M20 BOLTS INTO
/EAST IN FERRULES

R 12PL CLEAT
2-M20 8.8/s BOLTS

[Epp———

120mm ASHGRID STAND

OFF CLIPS FIXED TO TOP OF PURLINS
IN ACCORDANCE WITH MANUFACTURERS

SPECIFICATIONS

[R2310 UB —
]
+
h ]
12PL CLEAT,
3-M20 8.8/s BOLTS
DETAIL /[ 8 )

U 1
20281-7783-02
~——

FASCIA TO BE FIX

R3 200 PFC

DETAIL

U 1
2021-7783-02
~

L —

ED

_— B1 300 PFC

CONCRETE

TlLT PANEL \ |

R3 200 PFC

2-M20 BOLTS INTO CAST

<

IN FERRULES TO EACH END ~
OF TILT-UP PANEL. PROVIDE ,
1-M16 CHEMICAL ANCHOR AT N 10PL END PLATE
900 MAX. CTS. ELSEWHERE s
. 12PL CLEATS
2-M20 8.8/s BOLTS
< < |\
- s
v 1y
. f
Av
f
DETAL [ 8

1
2021-7783-02
N

CSR BRADFORD 120mm ASHGRID STAND
OFF CLIPS FIXED TO TOP OF PURLINS
IN ACCORDANCE WITH MANUFACTURERS
SPECIFICATIONS

R2310 UB ;
|
Y —
4+
L P T — B1300PFC
|
[¢p] | |
12PL CLEAT, 7 e
3-M20 8.8/s BOLTS Sl L |
o
ad

12PL CLEAT,/

3-M20 8.8/s BOLTS ; i

FASCIA TO BE FIXED
TO 150 PFC WITH

|_— 4-M16 GALV BOLTS, TYP

! 8PL GUSSET PLATE
| B2250PFC

|

150

\—FULLY WELD QUTRIGGER
TO COLUMN

A

f
DETAL [ 7))

1
E2021-77838-02
~—

R3 200 PFC

10PL END PLATE,
L-M16 GALV BOLTS

10PL END PLATE

(@) ’ @)
o ) o
= I S T = ;%szoCLsE.sA;sS BOLTS
N o EmEeET— ~
™ | %)
i S
|° . |
i i
h | | — CONCRETE
b frﬂp TILT PANEL
¥ ﬁ;:\

2-M20 BOLTS INTO CAST

IN FERRULES TO EACH END

OF TILT-UP PANEL. PROVIDE
1-M16 CHEMICAL ANCHOR AT
900 MAX. CTS. ELSEWHERE

DETAIL [ &)

1
2021-7753-02
N

10PL STIFFENER,

FULLY WELDED —\

| __OR1 150 PFC

FULLY WELD OUTRIGGER
TO COLUMN

12PL CAP PLATE,
2-M20 8.8/s BOLTS

C4 100 SHS —

| __OR1 150 PFC

FULLY WELD OUTRIGGER
TO COLUMN

—

DETAIL

T 1
20281-7783-02
N———"

B2 250 PFC
/

——

10PL STIFFENER,

|
—~ ! N
| . . TO 150 PFC WITH ; /
10PL CAP PLATE R1310 UB S \_Mi6 GALV BOLTS. TYp ) ] FULLY WELDED — -
12PL STIFFENER = ’ g /] N .
= FASCIA TRUSS . A :
CLEAT, 12PL CLEAT, Nyl . . | 8PL GUSSET PLATE | —
2-M20 8.8/s BOLTS ' ' 2-M20 BOLTS INTO CAST SRc———— = i A
= OR1 150 PFC : ?E =
oL aear— |3 OR1 150 PFC ——— ] IN FERRULES TO EACH END T | |
, | L-M20 8.8/s BOLTS | 2 FOR FULL HEIGHT R OF TILT-UP PANEL. PROVIDE T | > G I =
. - 8/s z 2-M20 BOLTS INTO CAST el 1-M16 CHEMICAL ANCHOR AT S 12PL CAP PLATE— | i
Lo = IN FERRULES TO EACH END \10PL END PLATE 900 MAX. CTS. ELSEWHERE —~,« 2-M20 8.8/s BOLTS I T T . FASCIA TO BE FIXED
0 | OF TILT-UP PANEL. PROVIDE ' T~ - 12PL CLEAT ;x____QBJ_LQQP_EQ_ I | Ay T0 150 PFC WITH
12PL CAP PLATE, z 1-M16 CHEMICAL ANCHOR AT 4-M16 GALV. BOLTS | c===sq 2-M20 8.8/s BOLTS o \_ P e GALV BOLTS, TYP
4-M20 8.8/s BOLTS | S 900 MAX. CTS. ELSEWHERE S . FULLY WELD OUTRIGGER ‘ '
S FASCIA TRUSS . i —
o | . TO COLUMN
O = T " T _A-Il_'1'f__
L ST Lo 8PL GUSSET PLATE —
J 16PL END PLATNE WITH — | " . @
3-M20 BOLTS INTO CAST — | L =
IN FERRULES. S | e —
BDETAIL @ DETAIL /10 DETAIL /11 . B1 300 PFC | i i i | et w0 puare
21=778 2 L \ 202 . 5-‘:7 = q I R D | '
2@21 2@23 @)= ¥ s | i'_\_\(____QBJ_LQQ_P_EQ_ ____________m 4L-M16 GALV BOLTS
' Ly \_
r
FULLY WELD OUTRIGGER
TO COLUMN
DETAL /1)
20R1-7753-02
NG SECTION
2021-7753-08
prelen P. SUCKLING PSH ENGINEERING PTY LTD ABN No 42 606 428 335 TITLE
@ THIS DRAWING IS & SHALL REMAIN THE PROPERTY OF CIVIL & STRUCTURAL - ENGINEERS. THE DRAWING . ACN No 606428335. T/A D * AGOSTI No AN D LU FF ARCH ITECTS
COMED OR OTHERMWISE DUPLICATED BY. ANY, THRD PARTY WITHOUT THE WRITTEN AUTHomsAroN o e | G. SUCKLING o o
COPIED OR OTHERWISE DUPLIC .
S Civil & Structural | PROPOSED NEW RETAIL OUTLET AT
SoALE ENGINEERS LOT 69 ANTLIA WAY, TREENDALE
07/07 THIS DRAWING MUST NOT BE USED FOR d ONAL 15 WITTENOOM STREET ~ PHONE:(08) 9791 1834 DETAILS
A | ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. | 2021 CONSTRUCTION UNLESS SIGNED AS APPROVED ] BUNBURY, 6230 WA FAX: (08) 9791 1857 DRG. No. REV.
No. REVISION BY DATE APPRD e-mail: admin@cseng.com.au 2021 - 7753 - 05 A




DO NOT SCALE

12PL CLEAT WITH

2-M20 BOLTS INTO
/CAST IN FERRULES
s “ “ 4
i /- . L
CONCRETE MR | K| [V R N
p . TILT PANEL . I N i’
L2 2-M20 BOLTS INTO CAST 2-M20 BOLTS INTO CAST —__ |2
7 N FERRULES TO EACH END %ﬁNrCﬁT,fEL 2-M20 BOLTS INTO CAST IN FERRULES TO EACH END e
\v OF TILT-UP PANEL. PROVIDE IN FERRULES TO EACH END OF TILT-UP PANEL. PROVIDE s 12PL CLEAT
7 1-M16 CHEMICAL ANCHOR AT OF TILT-UP PANEL. PROVIDE 1-M16 CHEMICAL ANCHOR AT 2-M20 8.8/s BOLTS
N ) 900 MAX. CTS. ELSEWHERE . 97s
\ .z - LT5. 2-M20 BOLTS INTO CAST 1-M16 CHEMICAL ANCHOR AT 900 MAX. CTS. ELSEWHERE a,
R \ ‘A2 900 MAX. CTS. ELSEWHERE 3
%y 7 IN FERRULES TO EACH END - LTS ]
00,<> v 16PL END PLATE WITH OF TILT-UP PANEL. PROVIDE ]
2PL CLEATS «((\) \\ ) \ 6-M24 BOLTS INTO CAST 1—M16MAEHEMICAL ANCHOR AT e s
IN FERRULES. 900 X. CTS. ELSEWHERE —
2-M20 8.8/s BOLTS ) A N | S289SHS/ MITRE CUT AND AN
Ny o FULLY WELD RAKER R3 : o
10PL END PLATE 72 - 10PL END PLATE I auy R
N M S2 89 SHS N 3| : e
- < | INC s pEe———— = 12PL CLEATS S “ | S
— HS . 2-M20 8.8/s BOLTS a T e
$1100S | A ) {0PL END PLATE s 2 - 12PL CLEAT WITH R I
== o NI 2 2-M20 BOLTS INTO CAST | } v
} s .- 2-M20 BOLTS INTO | y
¥ 74 > IN FERRULES TO EACH END 12PL CLEATS coe CAST IN FERRULES f
OF TILT-UP PANEL. PROVIDE 2-M20 8.8/s BOLTS _ll \
i 1-M16 CHEMICAL ANCHOR AT —_—— X pumn
m < pa
16PL CLEAT/ s’ s ) 900 MAX. CTS. ELSEWHERE A Iﬁ7 P ; — T
4L-M20 8.8/s BOLTS o @ 0 2 f o s\ ’ 2-M20 BOLTS INTO CAST
5 | = J T Al | IN FERRULES TO EACH END
Z | O /\ RS | a }/ OF TILT-UP PANEL. PROVIDE
| \ SETAL L2 AL (B I g R vl
D) \\ N 2@@’1 DET e | ) )
1 ‘PVD A\ /::// < 77;@ 12PL CLEAT K N “a |
! 2\ 3 <= 2-M20 8.8/s BOLTS - |
! DN S
' O ’A < <|
L |
—fF=====a |, /1-M16 CHEMICAL ANCHOR AT
. | 900 MAX. CTS. ELSEWHERE
A -
TAI]IL.' 13 ' Ve - 14/'
-
sl |- | |8
350 x 350 x 1000 RECONSTITUTED 3 Cleoe : 3
X X o < [e2]
3«%&% FULLY \ LIMESTONE BLOCKS WITH 20mm *f’ mm ~ o Ly L
THICK MORTAR JOINTS FACE JOINTS TO HAVE b= Saf
) LIMESTONE COLOUR MORTAR TO MATCH WALL = f
@ 168x7.1 (Hs ————1* - | N
WITH CONCRETE S—
FILL BOLLARD > f IR m{@
a <C
L = SUBSTITUTE WITH 350 x 350 x 1000 @TA"L" ,
8 BLOCKS TO BASE FOR WALLS 20R1-7783-02
) = UP TO 740mm IN HEIGHT
Lo - SS 20 TENSAR MAT AT EACH LooP ST
S IN&
., COURSE SHOWN TYPICAL. TOP PLATE TP H\ATE LOE STRAE BRI \ TOP PLATE ToP PLATE ‘ ST
| ‘ | T T 5ﬂp
] 77, ~——BACKFILL TO BE CLEAN SAND iw A 1 T ? i F - N
— N AN AN LA — EXTERNAL WALL \ |
5 ] COMPACTED TO MIN 70% DENSITY INDEX / \
. . 1200 MIN. I | IN ACCORDANCE WITH THE EARTHWORKS lom NOTCH MIN 2-20x N MIN 3-30x BRACING S MIN. 2 NALS A'V'
ety F———" I | 22mm GALV. Xdomm 2.2mm GALV. 90x45 MGP10 TO 3m. ™~
f [ —— SPECIFICATION %%N-S%BA%I_-? s STRAP BRACING oS 120445 MGP10 TO . [
” 4 o BOTTOM PLATE FIXING; I N -
p L0 R 50 DIA PVC WEEP HOLES AT 8000 CTRS PLATE — ST sw/ |, | New ST FIX ALL EXTERNAL WALLS TO SLAB >~
4. o SURROUND TOP END WITH MIN 300 DEEP v r f WITH 1 Ml0 CHEMICAL ANCHOR WiTH |orm NOTCH |
_ mm MIN. EMBEDMENT OR TO FLOOR
_ GRADED BLUE METAL. SURROUND BLUE NOGOING _ 20x0%mm Pél FRAMING WITH 1-M10 BOLT AT THE
’ g A NG W BOTTOM PLATE
ﬂ S e e et o o T R SYRI U PV
= 13 <.
B & BLOCK CUT > 2) EACH END OF WALL PANEL =
Q,*;\,\//\\’&’ W 70 SUIT A NOGEING NOEGING 3) EACH END OF DIAGONAL BRACING INTTERSEGTION OF
@600 0@%}‘> <O \@\\\ \ MIN. 2 NALS 4 NOEGING F N/l / L) EACH SIDE OF OPENINGS EXTERENAL WAILL,
\Y\é/\/\\{c \,\~(? COMPACT SUBGRADE TO Q_—A'I?Eﬂp TO & + I 5) 1200 MAX. CTS. TYPICALLY ERANES AT CORNER
o OHRE MIN 70% DENSITY INDEX N / A +
TYPICAL BOLLARD \>\x\<«\\\*\\\\\\<> STAGEER NoBEING MIN 2-30xg2 2 NOEGIN N A NTERNAL WALL
DETAIL -7 &R NoGENeS OALV. AATTS MIN. 2 NALS FRAMING
1IRY4 EJIC @?AI]IN]]N@ WA":JL @TH@N NOTE: 20x0.8mm Pol 19206(2,55 Mﬁg;;)o T'PO 3le I
NOTES N0 NOTCHES REQURED TO NOGGINGS, - STRAP BRACING ,' M o AxE Eoane. | |
RETAINING WALL DIMENSIONS IN mm = . - C}f‘THAﬁEJQ‘TCEﬁmAw,&CSHJQ VSJILTAHB N -
1 SOIL UNDER FOOTING SHALL BE COMPACTED L PROVIDE WEEP HOLES AT NOT GREATER THAN ST STp sTp | £omm MIN. EMBEDMENT OR TO FLOOR ~ !
H D W FOR A DEPTH OF 750mm TO GIVE A MIMIMUM 4m CTS. PROVIDE 10mm CONTROL JOINTS AT lomm NOTCH ST ——— FRAMING WITH 1-M8 BOLT AT THE MRIT
0 - 740 350 1000 READING OF 7 BLOWS PER 300mm USING A NOT GREATER THAN ém CTS ALONG THE § gllr\jﬁr:;ag.:l_v 00 Bmm POl MIN 3-30x FOLLOWING LOCATIONS. o NOTCH >
T = = STANDARD PERTH PENETROMETER. LENGTH OF ANY WALL. L BOTTOM N STRAP BRACING $2.8mm GALV. BOTTOM BRACING 12’) EXEEYEEEESEDwiIEDpANEL N 2 NALS AT
2 BLOCKWORK TO BE IN 1:1:6 MORTAR WITH 5 ALL DISTURBED AREA TO BE STABILISED S PLATE j \ I . - | MQ‘ FLATE \ 3) EﬁCH END OF DIAGONAL BRACING 5% TB "P_LATE
NOTE: FULL BED JOINTS AND PERPENDS. FOLLOWING CONSTRUCTION OF WALLS. MIN. 2 NALS S 474 g . \; . i or OPEMNGS POTTOM PLATE
EMBEDED DEPTH 'D’ REQUIRED FOR BRICK CAVITY FILL WALLS 6 Mo BA \ \ N F;LTA?EHD O \ o TR WlN@/ N I —7 1 . (Ts.
MAXIMUM RETAINED HEIGHTS BUILD IN CAVITY TIES AT 350 VERT. CTS MAX. 0 BACKFILL SHALL BE PLACED UNTIL THE BOTTOM UNDER POTTOM PLATE POTTOM 7/ =
x 400 HORIZONTAL CTS MAX. AND STAGGER. WALL HAS BEEN CONSTRUCTED FOR A WALL ERAMING PLATE PLATE MIN. 2 NALS INTERSECTION OF
BRICK WALLS MINIMUM OF 7 DAYS. _ _ INTERINAL AND EXTERINAL,
_ DETAILS BRAGING DETAILS TIMBER BRAGING WALL ERAMES
NOTE: BUILD IN R6 GALV. BLOCK TIES EACH COURSE DETAILS
THIS WALL HAS BEEN DESIGNED WITH VERTICALLY AND AT 1200 CTS STAGGERED NOTE: =
RECONSTITUTED LIMESTONE BLOCKS HORIZONTALLY. BRACE EACH END OF ALL EXTERNAL WALLS WHERE
POSSIBLE AND BRACE THE ENDS OF INTERNAL WALLS
3 CONCRETE TO BE GRADE S25 MINIMUM WITH NTEREEZTNG DTERNAL WALLS
14mm AGGREGATE TIMBER LINTEL STANDARD STLDS TOP PLATE
1045 Wk \ ﬂ /
\ | X f
e ST FRAMNG V ST V \\ I I NE
LINTEL Q
50 MIN. OFFSET | —_—
25mm AC10 — | ! SINELE ST TO BE USED FOR
ASPHALT T0 SLAD EEE ' STADARD ST STADARD —] OPENNES (P T0 100 WIE.
150 200 150 |/ POTTOM PLATE ST DOBLE STDS TO BE LOCATED
BASE COURSE WEBFORGE GALVANISED TRENCH | ! MIN. 9mm THICK = = = VD — PGS (P 0 a0t o
100 THICK NON-PLASTIC -~ GRATE GTG 200H . STRUCTURA ST OFENNES OVER d0mm SHALL
GRAVELCOMPACTED TO — SURFACING DEPTH T | o A f(’FLgV;\/ﬁgl)? PRACING STADARD NIBEINGS PE N ACCORDANCE WITH THE
98% CHEM ) REMENTS OF AS |684.
MMDD J rBASE COURSE DEPTH o1k cOURSE | ANCHOR AT LOCATIONS ! END_FIX TIMPER THRU R |
] T 100 THICK NON-PLASTIC 25mm AC10 AS NOTED. . |~ ST WITH >0, 14 STANDARD NOGEINGS AT
4 GRAVELCOMPACTED TO ASPHALT SURFACING DEPTH POTTON = = PELE HEAD ScEw = —— 350 MAX VERT. CT5. TYPAL
98% MMDD |j BASE COURSE DEPTH TYPICAL EXTERNAL FOOTING |
™ _ e - . . Box450 MeP|o . )
hy [ SUBBASE DEPTH TYPIBAL alE : : : DRD Choh i A e
BASE FIXING DETAIL MIN 20xgL8mm GALV. (LOUTS AT 60 MAX. CTS. AT 450 MAX (RS
? FOR TOP & POTTOM PLATES AND AT EACH TYPICAL
BASE COURSE NOTE: EDEE OF PRACE AND AT 200 MAX. CTS. TO
150 THICK LIMESTONE N12 AT 400 rSUBBASE DEPTH ALTERNATELY FIX WAL FRAMING T0 TO INTERMEDIATE STUDS AND NOBEINES TYRPICAL TIVIBER SUPPORT BOTTOM PLATE
COMPACTED TO My ! T AT oo a0 e\, AL TERNATIVE MEMBER DETAIL ALL, )
95% DD COMPACTED SUBGRADE N12 BARS AT BASE COURSE ELYWOGOD BRACING DETAILS WALL MOUNTED [ITEMS TYRPICGAL ELEVATION OF WALL FRAMING
500 LOCATIONS SHOWN 150 THICK LIMESTONE COMPACTED SUBGRADE
COMPACTED TO
, 600 , 95% MMDD
TYRPIGAL TRENGH DETAIIL
TYRIGAL ROAD BASE GCONSTRUGTION DETAMIIL
DESIGN
@ THIS DRAWING IS & SHALL REMAIN THE PROPERTY OF CIVIL & STRUCTURAL - ENGINEERS. THE DRAWING P SUCKLING PSH ENGINEERING PTY LTD ACN No 6o0455306 11 TITLE‘
- . ACN No 606428335. T/A
MAY ONLY BE USED FOR THE PURPOSE FOR WHICH IT WAS COMMISIONED, AND MAY NOT BE LENT, SHOWN, DRAWN D AGOSTI No AN D LU FF ARCH ITECTS
COPIED OR OTHERWISE DUPLICATED BY ANY THIRD PARTY WITHOUT THE WRITTEN AUTHORISATION OF THE G. SUCKLING o d
o o ivil & Structura PROPOSED NEW RETAIL OUTLET AT
SoALE ENGINEERS LOT 69 ANTLIA WAY, TREENDALE
1:10 ON A1
— 15 WITTENOOM STREET PHONE:(08) 9791 1834 DETAILS, TIMBER STUD FRAME DETAILS AND CIVIL WORKS DETAILS
07/07 THIS DRAWING MUST NOT BE USED FOR 9
A | ISSUED FOR CDC APPROVAL/BUILDING PERMIT G.S. | 2021 BUNBURY, 6230 WA FAX: (08) 9791 1857 DRG. No. REV.
CONSTRUCTION UNLESS SIGNED AS APPROVED T e-mail: admin@cseng.com.au
No. REVISION BY DATE g ' 9- ' 2021 - 7753 - 06 A




	dagg&luff-whitiestackle 01
	dagg&luff-whitiestackle 02
	dagg&luff-whitiestackle 03
	dagg&luff-whitiestackle 04
	dagg&luff-whitiestackle 05
	dagg&luff-whitiestackle 06

